



subtraktion av bråk (korrekt fraktion) (felaktig fraktion)

namn: _____

Datum: _____ Poäng: _____

$$\frac{5}{6} - \frac{6}{8} =$$

$$\frac{5}{2} - \frac{3}{4} =$$

$$\frac{7}{6} - \frac{1}{7} =$$

$$\frac{5}{6} - \frac{1}{5} =$$

$$\frac{3}{2} - \frac{7}{6} =$$

$$\frac{7}{2} - \frac{2}{6} =$$

$$\frac{2}{6} - \frac{1}{7} =$$

$$\frac{7}{4} - \frac{4}{9} =$$

$$\frac{3}{5} - \frac{3}{9} =$$

$$\frac{3}{5} - \frac{4}{9} =$$

$$\frac{7}{6} - \frac{4}{5} =$$

$$\frac{7}{4} - \frac{4}{9} =$$

$$\frac{4}{3} - \frac{2}{4} =$$

$$\frac{4}{5} - \frac{1}{4} =$$

$$\frac{7}{8} - \frac{5}{6} =$$

$$\frac{7}{9} - \frac{1}{7} =$$

$$\frac{6}{8} - \frac{1}{8} =$$

$$\frac{7}{2} - \frac{4}{9} =$$

$$\frac{3}{6} - \frac{2}{8} =$$

$$\frac{5}{6} - \frac{1}{9} =$$



namn: _____

Datum: _____ Poäng: _____

$$\frac{5}{6} - \frac{6}{8} = \frac{1}{12}$$

$$\frac{5}{2} - \frac{3}{4} = \frac{7}{4} = 1\frac{3}{4}$$

$$\frac{7}{6} - \frac{1}{7} = \frac{43}{42} = 1\frac{1}{42}$$

$$\frac{5}{6} - \frac{1}{5} = \frac{19}{30}$$

$$\frac{3}{2} - \frac{7}{6} = \frac{1}{3}$$

$$\frac{7}{2} - \frac{2}{6} = \frac{19}{6} = 3\frac{1}{6}$$

$$\frac{2}{6} - \frac{1}{7} = \frac{4}{21}$$

$$\frac{7}{4} - \frac{4}{9} = \frac{47}{36} = 1\frac{11}{36}$$

$$\frac{3}{5} - \frac{3}{9} = \frac{4}{15}$$

$$\frac{3}{5} - \frac{4}{9} = \frac{7}{45}$$

$$\frac{7}{6} - \frac{4}{5} = \frac{11}{30}$$

$$\frac{7}{4} - \frac{4}{9} = \frac{47}{36} = 1\frac{11}{36}$$

$$\frac{4}{3} - \frac{2}{4} = \frac{5}{6}$$

$$\frac{4}{5} - \frac{1}{4} = \frac{11}{20}$$

$$\frac{7}{8} - \frac{5}{6} = \frac{1}{24}$$

$$\frac{7}{9} - \frac{1}{7} = \frac{40}{63}$$

$$\frac{6}{8} - \frac{1}{8} = \frac{5}{8}$$

$$\frac{7}{2} - \frac{4}{9} = \frac{55}{18} = 3\frac{1}{18}$$

$$\frac{3}{6} - \frac{2}{8} = \frac{1}{4}$$

$$\frac{5}{6} - \frac{1}{9} = \frac{13}{18}$$